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Choose	
  3	
  out	
  of	
  the	
  4	
  questions	
  to	
  answer.	
  
	
  
1.	
  	
  Consider	
  a	
  multicore	
  processor	
  with	
  8	
  cores,	
  with	
  each	
  core	
  having	
  a	
  clock	
  speed	
  of	
  2.6	
  
GHz	
  and	
  256-­‐bit	
  wide	
  vectorization	
  capability.	
  The	
  measured	
  maximum	
  memory	
  
bandwidth	
  is	
  56	
  GB/sec.	
  	
  	
  
	
  	
  	
  	
  	
  a.	
  	
  Sketch	
  the	
  roofline	
  model	
  for	
  the	
  processor	
  and	
  identify	
  the	
  machine	
  balance	
  point.	
  
	
  	
  	
  	
  	
  b.	
  	
  Write	
  code	
  in	
  the	
  language	
  of	
  your	
  choice	
  for	
  the	
  2-­‐loop	
  formulation	
  of	
  matrix-­‐vector	
  
multiply.	
  Find	
  the	
  operational	
  intensity	
  of	
  the	
  code	
  (i.e.,	
  the	
  ratio	
  of	
  floating	
  point	
  
operations	
  to	
  amount	
  of	
  data	
  moved)	
  and	
  determine	
  the	
  maximum	
  performance	
  given	
  by	
  
the	
  roofline	
  model.	
  
	
  	
  	
  	
  	
  c.	
  	
  Assuming	
  that	
  three	
  50x50	
  double-­‐precision	
  matrices	
  fit	
  in	
  fast	
  cache	
  memory,	
  find	
  
the	
  operational	
  intensity	
  of	
  a	
  cache-­‐blocked	
  matrix-­‐matrix	
  multiply	
  code	
  and	
  determine	
  the	
  
maximum	
  performance	
  given	
  by	
  the	
  roofline	
  model.	
  	
  
	
  
2.	
  	
  Four	
  variations	
  of	
  an	
  OpenMP	
  code	
  to	
  calculate	
  the	
  number	
  of	
  hits	
  for	
  Monte	
  Carlo	
  
computation	
  of	
  𝜋  are	
  shown	
  below.	
  
	
  	
  	
  	
  	
  a.	
  	
  Which	
  of	
  the	
  codes	
  will	
  produce	
  a	
  correct	
  result?	
  	
  If	
  a	
  variation	
  is	
  incorrect,	
  explain	
  
why.	
  
	
  	
  	
  	
  	
  b.	
  	
  Which	
  of	
  the	
  codes	
  would	
  you	
  expect	
  to	
  have	
  the	
  best	
  performance?	
  	
  If	
  a	
  variation	
  is	
  
correct	
  but	
  is	
  expected	
  to	
  have	
  less	
  than	
  optimal	
  performance,	
  explain	
  why	
  (for	
  each	
  such	
  
variation).	
  
	
  
Code	
  1:	
  
#pragma	
  omp	
  parallel	
  for	
  private	
  (i,	
  x,	
  y,	
  seed)	
  shared	
  (ntrials,	
  hits)	
  
for	
  (i	
  =	
  0;	
  i	
  <	
  ntrials;	
  i++)	
  {	
  
	
  	
  	
  	
  	
  x	
  =	
  ((double)	
  rand_r(&seed))/	
  RAND_MAX;	
  
	
  	
  	
  	
  	
  y	
  =	
  ((double)	
  rand_r(&seed))/	
  RAND_MAX;	
  
	
  	
  	
  	
  	
  if	
  ((x*x	
  +	
  y*y)	
  <=	
  1.0)	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  hits++;	
  
}	
  
	
  
Code	
  2:	
  
#pragma	
  omp	
  parallel	
  for	
  private	
  (i,	
  x,	
  y,	
  seed)	
  shared	
  (ntrials,	
  hits)	
  
for	
  (i	
  =	
  0;	
  i	
  <	
  ntrials;	
  i++)	
  {	
  
	
  	
  	
  	
  	
  x	
  =	
  ((double)	
  rand_r(&seed))/	
  RAND_MAX;	
  
	
  	
  	
  	
  	
  y	
  =	
  ((double)	
  rand_r(&seed))/	
  RAND_MAX;	
  
	
  	
  	
  	
  	
  if	
  ((x*x	
  +	
  y*y)	
  <=	
  1.0)	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  #pragma	
  omp	
  critical	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  hits++;	
  
}	
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Code	
  3:	
  
#pragma	
  omp	
  parallel	
  for	
  private	
  (i,	
  x,	
  y,	
  seed)	
  shared	
  (ntrials,	
  myhits)	
  
for	
  (i	
  =	
  0;	
  i	
  <	
  ntrials;	
  i++)	
  {	
  
	
  	
  	
  	
  	
  x	
  =	
  ((double)	
  rand_r(&seed))/	
  RAND_MAX;	
  
	
  	
  	
  	
  	
  y	
  =	
  ((double)	
  rand_r(&seed))/	
  RAND_MAX;	
  
	
  	
  	
  	
  	
  if	
  ((x*x	
  +	
  y*y)	
  <=	
  1.0)	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  hits[i]++;	
  
}	
  
hits	
  =	
  0;	
  
for	
  (i	
  =	
  0;	
  i	
  <	
  nthreads;	
  i++);	
  
	
  	
  	
  	
  hits	
  +=	
  myhits[i];	
  
	
  
Code	
  4:	
  
#pragma	
  omp	
  parallel	
  for	
  private(i,	
  x,	
  y,	
  seed)	
  shared(ntrials)	
  reduction(+:	
  hits)	
  
for	
  (i	
  =	
  0;	
  i	
  <	
  ntrials;	
  i++)	
  {	
  
	
  	
  	
  	
  	
  x	
  =	
  ((double)	
  rand_r(&seed))/	
  RAND_MAX;	
  
	
  	
  	
  	
  	
  y	
  =	
  ((double)	
  rand_r(&seed))/	
  RAND_MAX;	
  
	
  	
  	
  	
  	
  if	
  ((x*x	
  +	
  y*y)	
  <=	
  1.0)	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  hits++;	
  
}	
  
	
  
3.	
  	
  For	
  each	
  of	
  the	
  MPI	
  codes	
  below,	
  explain	
  whether	
  it	
  is	
  safe	
  or	
  not.	
  	
  Safety	
  means	
  that	
  the	
  
code	
  is	
  free	
  from	
  possibility	
  of	
  deadlock	
  and	
  that	
  buffer	
  contents	
  still	
  in	
  use	
  are	
  not	
  
overwritten.	
  Assume	
  that	
  numtasks	
  hold	
  the	
  number	
  of	
  MPI	
  tasks	
  and	
  taskid	
  holds	
  the	
  rank	
  
of	
  the	
  processor	
  executing	
  the	
  code.	
  If	
  the	
  code	
  is	
  incorrect,	
  rewrite	
  it	
  so	
  that	
  it	
  is	
  correct.	
  
	
  
a.	
  	
  MPI_Send(&buf,	
  count,	
  MPI_DOUBLE,	
  (i+1)%numtasks,	
  1,	
  MPI_COMM_WORLD);	
  
	
  	
  	
  	
  	
  MPI_Recv(&buf,	
  count,	
  MPI_DOUBLE,	
  (i-­‐1+numtasks)%numtasks,	
  1,	
  MPI_COMM_WORLD);	
  
	
  
b.	
  	
  MPI_Isend(&buf,	
  count,	
  MPI_DOUBLE,	
  (i+1)%numtasks,	
  1,	
  MPI_COMM_WORLD,	
  &request);	
  
	
  	
  	
  	
  	
  	
  MPI_Recv(&buf,	
  count,	
  MPI_DOUBLE,	
  (i-­‐1+numtasks)%numtasks,	
  1,	
  MPI_COMM_WORLD,	
  
&status);	
  
	
  	
  	
  	
  	
  MPI_Wait(&request,	
  &status);	
  
	
  
	
  
4.	
  	
  Suppose	
  you	
  have	
  a	
  nonsingular	
  square	
  dense	
  double	
  precision	
  real	
  matrix	
  A	
  of	
  size	
  n	
  x	
  
n	
  and	
  several	
  right-­‐hand	
  side	
  vectors	
  b	
  of	
  size	
  n	
  for	
  which	
  you	
  need	
  to	
  solve	
  the	
  system	
  
Ax=b.	
  	
  Choosing	
  from	
  the	
  routines	
  given,	
  write	
  code	
  for	
  how	
  you	
  would	
  efficiently	
  solve	
  the	
  
set	
  of	
  linear	
  systems.	
  You	
  need	
  only	
  show	
  the	
  code	
  to	
  solve	
  one	
  of	
  the	
  systems,	
  but	
  assume	
  
that	
  several	
  would	
  be	
  solved	
  using	
  the	
  same	
  matrix	
  A.	
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